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1 FERILHEEERE 1,929 1,481 3,410 65 40 105 Fhkdkkdk | kkkdkkk *kkkkk 3.37 2.70 3.08

2 HORE X WO 1,694 1,606 3,300 86 74 160 | Fxkik* Fokdekok ok kkkkdkk 5.08 4.61 4 .85

3 %?&«Sﬂhﬁ?)b\f? 2,077 1,924 4,001 94 53 147 *kkkkk kkedkkk F*kkkkk 4.53 2.75 3.67
4 BiSshdbnW7r7 ¥ 1,944 1,768 3,712 67 43 110 Fkdkdkk [ kkkkkk ek ek 3.45 2.43 2.96
) 5 i?:’f’f‘)‘({t‘lz V- 1,863 1,791 3,654 80 53 133 *kkkkk Fkdekkk *hkkkk 4.29 2.96 3.64

6 BRSNH NS T Y 1,847 . 1,830 3,677 94 65 159 *hKkKk Kk ek F*kkkkk 5.09 3.55 4.32

7 wm o'W % T 2,005 1,951 3,956 69 54 123 Fkkkkk Fededekkk Fkkekkkk 3.44 2.77 3.11

8 sk A B iE ER 1,551 1,427 2,978 82 48 130 hkkkkk | Fkkdkkk Fokdkekkok. 5.29 3.36 4.3>7

(8 I S )

9 %o 2 B 1,892 | 1,669 | 3,561 95 56 151 | kwkns | kkwkkn | owwkxkx | 5,02 | 3.36 | 4.24
10 ggfs% 2;%&;3}; 1,065 993 2,058 58 46 104 | #xwdwx | xwkxkn | dxskxx | 545 4.63 5.05
11 & I OER R R 1,310 1,087 2,397 75 44 119 Fekkdkekk Fhddkk ek desde ko 5.73 4.05 4_96
12 /HJ] E “ﬁ :JQ ETE‘ )_:Jf kkkkkk Rhkkhkk kkkkkKk *kkkkk kK kKkkKk %* % %k kk kkkdkkk * Kk kkkk ****** **_** **_** **_**

& R 19,177 | 17,527 | 36,704 865 576 1,641 | *kwrks | wkdkkkx | dkxkdk | 451 3.29 | 3.93
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